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Name of a student

University of Mustansmyah {é r\»a = 7 1t Semester-2021
Department of Chemistry 1% Exam-paper E
Qil: Clrcle the rlght answer for all of the followmg : (50 points)
1:ifa gas has polar partlcles n the dlfference be the volume of this gasis: ; i N &
Answer: Real > Vperfect b) Vreal < Vperfect ; €) Vreal = Vperfect d) VReal # perfect

X
= 2 A gas occupies %0\4 0¥mL at 150 °C and' 760 mm Hg pressure, Wh

vouldsbe its volume at STP?
Answer: a) 38 7 b) 38.7 dm? ‘ 3 g

) d)38.7 dm?

o\

: =3
3/Calculate the werght of HzO gas (18 g.mol’)ina5L cylmder at 10 x 10? kPa and 3§3ﬁ\ h 2/
W 3 ‘_

a)2940gmol1 b)29.40 g )2940mo| d)2940kg W‘Z
e R i Mb 5

4: Calculate the density of H20 placed in a 22400 mL cyhnde 105 Parapd
Answer: a)0804kgL1 s b)0804gL1 @?{ /d)0804L1

b
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5 Accordmg to Graham S law th heavre g %
Answer: a) H20 b) } NH3 w d)Ch

e O\ \_})A/\

of 200 x 103 Pa. What should be its volume?

Answer: \l@y b)80P Al Gy
7 Accordmg to Boyle’s law the pressure of-agas is mversly pro
Answer: a)p b)T R_ %
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8: The difference between real and ideal gas, that the real gas interested in?

Answer: b)V & T _ cp & n d)T&p ‘/7; )
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9: It can follow the dlrect proportlonal between temperature and pressure throughthe law of
Answer a) Van der Waal b) Graham c) Cha rles .Say-Lus_sjc
,«,}\g)\ _ ‘;),_1 %
10: The behaviour of real gas is ideal when the value of Z is equal to
Answer: a) Vi< VO, b) Vi > V°n, Gy V= m # VO
i %
Q2: Thefollowmg data have been observed iqr 800 mg of nitrogen gas at 27 K. Calculate the best value of the
‘molar mass of Na | p/105Pa | ¢ (750 | 0500 | 0200 (25 points) e
¥ r V/dm3 .0 4.5 7.0 T

, J= e 1 b~
03 A perrect gas undergoes usothermal compression, which reduces its volume by Il 80 dm3 The pr and Vf of

: the gas are 2 x 10? kPa and 2.14 dm?3, respectively. Calculate the Poriginal of the gas in (i) bar, (ii) torr. (25 points)
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Thur_11/11/2021 Best wishes : " Dr Abduljabbar 1. R. Rushdi
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